8 7 6 S 4 3 2 | 1

REVISIONS
[> NOTES ® ] DATE APPROVAL |
1. STANDARD GLAZING OPTION — .125" WL 003} Y/ lasseoer ] TLC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC Y [4c27/21 ] TLC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70" AND A MAXIMUM LENGTH OF 24.00".
NOT MEET THE REGUIEMENTS FOR /= 00>
M M
WIND-BORNE DEBRIS REGIONS. 13 GA HORIZ "NGLE\
2. ALUMINUM FULL VIEW OPTION — ALUMINUM
FULL VIEW SECTION MAY REPLACE ANY
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE € DOOR |
RAILS AND STILES OF EXTRUDED ALUMINUM 15 GA MIN HORIZ —_ | :
ALLOY B0B3—T6 WITH A 2—1/4" INTEGRAL FIN TRACK ﬂ
AND 125" MINIMUM DSB GLAZING INSTALLED
WITH ALUMINUM RETAINERS IN ORDER TO 13 GA CONTINUOUS |
MEET UNIFORM STATIC DESIGN PRESSURES WALL ANGLE W .
SHOWN ON THIS DRAWING. AFV GLAZING - - |
PANEL SIZE IS 46.5"x21.9" (MAX). GLAZING IS / \
NOT IMPACT RESISTANT AND DOES NOT MEET 15 GA MIN_VERT ~ i :
THE REQUIREMENTS FOR WIND—BORNE DEBRIS TRACK NIV D >
REGIONS. H Py - 1 <
3. MINIMUM_OF 1” OVERLAP ON BOTH JAMBS 5/16"1-5/8 —|] : 20 GA CENTER STLE— |E®,
LAG SCREW AT EACH
REQUIRED TO MEET NEGATIVE DESIGN HOLE LGCATION FOR a s H
PRESSURES. WOOD SUBSTRATE. SEE
SHEET 3 FOR MOUNTING H o
4. SUDE LOCK OR OPERATOR REQUIRED. To OTHER SUBSTRATES. W T Lo
5. SECTION STEEL TO HAVE THE FOLLOWING £ pa
MINIMUM THICKNESS: i ;
421, 423 — 20 GA " /
427, 429 — 24 GA 1/4-20x9/16" TRACK—~_|
434, 436 - 25 GA BOLTS AND 1/4-20 HEX 1 0]
AL ELEMI A i
RESPONSIBILITY OF THE PROFESSIONAL OF (SEE DETALL A SHEET 3) 20.G4 Wo0D FILLED W
RECORD FOR THE glﬂ# gI}RSTR!chTlleE[E’ s _/ : ™
AND IN ACCORDAN: RENT BUILDIN H _—
CODES FOR THE LOADS LISTED ON THIS I SA TRACK CLIPS i 14 —
(WELDED, BOLTED, OR H
DRAWING. 0 WALL a ]
ANGLE) SEE NOTE 7 AND g /
7. TRACK CLIPS SHALL BE LOCATED WITH N
CENTERUNE OF BOTTOM CLIP SPACED 10" DETAIL F' SHEET 3
MAX FROM BOTTOM OF TRACK AND REMAINING SLIDE LOCK ONE END—|{ |
TRACK CLIPS SPACED AT 24" 0.C. MAX. (NOT REQUIRED WITH =
SPACING BETWEEN TOP TRACK CLIP AND OPERATOR — SEE NOTE 4) {
SPLICE PLATE SHALL BE 30" 0.C. MAX. H 1
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO H
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. v H
REFER TO JAMB CONNECTION SUPPLEMENT 1
FOR ATTACHMENT TO SUPPORTING H
STRUCTURE. § 8
NOIE:  (4) SECTION SOLID DOOR 1 0]
SHOWN. SEE SHEET 2 FOR U—BAR H x
LOCATIONS ON DOORS WITH OTHER H
SUPERIMPOSED DESIGN PRESSURE SECTION QUANTITIES AND SEE NOTES 1 a H o
LOADS ON SUPPORTING STRUCTURE PRONS. R Gz &7 : —
heX | DooR | MAX UNIFORM LOAD EACH JaMB FHN
24
oo | HeiGHT (PLF) {
12-2"| AL $127.1/-143.6 \
=
= c OF \
- ‘E T \\ Ohn Digitally signed by
- V JETTIIIIING, 4|:q L John Christian
o R\ istian  Voelkel
o /) Date: 2021.05.03
‘e, wodlkel 10:37:09-0500'  THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
L)
, ‘.* ' THE DRAVINGS AND ALL OTHER INFDRMATIDN CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY DF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAVING
i A OF TS TRAVING OR INEDRAATION 1% INTENDED T OERATE A5 A LICENE DR ALTHIRIZATION 10 USE TF FOR ANY PURPDSE. UITHJT THE SPECIFIC URITTEN CONSENT LF OVERAEAD DOOR, CORPLRATION
STATIC PRESSURE RATINGS APPROVED SIZES ; J. C. VOELKEL e ENDED T DpeRATE AS A LI D I T A P T S T e v
’ » - - L INDLDAD, DPTION CODE 202
. MAX WIDTH: 12'-2 seessssscsssnneoe N/A "Clark | 114721 1) 423427 49 434,436,
DESIGN PRESSURE(PSF): +20.9/-23.6 MAX HEIGHT. 28—1" ' X 8 o .9/-236 PSF, 12/-2¢ HAX
: - [ DOVER 500 +008/-003 xx s | LNITIE J QIAN 1/14/21
IMPACT/CYCLIC RATED: NO MAX_SECTION HEIGHT: 241 (f, O™ 133174 AR Xx o |EASKE woveD o8 B2 D-411790
(] T S mees :5 | Ea TCLARK | 427/21 A Jemi w3

Do
8 7 [ 42 6.‘"</CENS€0



chris
Texas


7 6 S 4 3 e 1
(12) SECTION DOORS WITH:
1/4-20x9/16" TRACK BOLT (12) 3" 20 GA 80 KS| U-BARS
LOCATED AS SHOWN
AND 1/4-20 HEX NUT )
ROUGH THE SLOT IN THE 7|
TRACK AND TRACK CLIP.
i (11) SECTION DOORS WTH
H (11) 3" 20 GA 80 KSI U-BARS
/ LOCATED AS SHOWN
DETAIL A (10) SECTION DOORS WITH:
(10) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN
./' .
12 GA COMMERCIAL TOP FRAME / \
BRACKET WITH 13 GA ROLLER | : (9) SECTION DOORS WITH
CARRIER ATTACHED WITH (4) 1 (9) 3° 20 GA 80 KSI U-BARS
1/4—14x7/8" SELF DRILLING i LOCATED AS SHOWN
CRIMPTITE' SCREWS ' k.
\, /
. _
L S (8) SECTION DOORS WITH
DETAL B 8) 3* 20 GA 80 KSI U-BARS
ADD (2) 1/4—14x7/8" SELF ® LOCATED AS SHOWN
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE
518" STEM AND 716" /] oy 3ThSECTON DoORS M
PUSHNUT AT EACH ROLLER / LOCATED AS SHOWN
LOCATION. 1/4" MAX 4
BETWEEN PUSHNUT AND
BRACKET OR HINGE
13 GA WIDE BODY END (6) SECTION DOORS WITH
HINGES EACH ATTACHED (6) 3 20 GA 80 kS U-BARS
WITH (4) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
DETAIL C
(5) SECTION DOORS WITH
i T (5) 3° 20 GA 80 KSI U—BARS
| ———(2) 1/4=14x7/8" SELF DRILUNG LOCATED AS SHOWN
| CRIMPTITE SCREWS
HALF HINGE
(4) SECTION DOORS WITH

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x7/8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS (2 THROUGH
STRUT AND BRACKET)

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 12'-2"
MAX HEIGHT: 24'—1"

DESIGN PRESSURE(PSF): +20.9/-23.6

IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 24

8 7 |

‘é

(2 1/4 x 1/2°
CARRIAGE BOLTS AND
1/4" FLANGE NUTS

AFV _SECTION
NN\
<SS OF 10N

e OF TE*

ATTACH U—-BARS WITH
2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

(4) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

" TRE TRAvIGS WD aLL TTHER e TRWATION CO 70 PREFRITARY PRVERTY IF DVERFERD TOOR CORFORATION A0 TTs aFTILINTED COMP AN
J C VOELKEL Y, AND IWDRMATIO N.mvm.:mmpm,mumzmmmmwnm TO AV VITHIT THE PRIDR VRITTEN CONSENT [F IVERIEAD OUER CORPLRATION 6 DISGOSRE D
ANY (F THIS IRAVING OR INFTRWATION 1 INVENBED T PERATE AS & LIGENSE OR AUTHIRIZATIN 0 USE IT FUR ARY PRFOSE VITWOUT THE SPECTFIC VRITTEN CIENT (F OVERIEAD DR CIRPCRATIO

eoccccccccssccccsscccccssns . = The Gemuine. The Cviginst DATE

. G oy L it T CLARK 1714721 "‘“‘"‘.‘!.}’m/"“"'ie?}ﬁs/.stm,
s 1 3 3 174 Q' — et .9/-23.6 PSF, 12'-2* MAX

% e Q/ —_ ] J_QIAN 114721 [Some 30
0. 0. JE— /A — B D- 4117

N /CENse o \e REF VG T CLARK | 4/27/21 fem WA Tsme w3
“\Qg ®%0ececen® 2 | 1

-
\\leN AL ﬁ\:-"

A SO G



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

TRACK CLIP
1/4-20x9/16"

TRACK BOLT AND
1/4-20 HEX NUT

TRACK

CONTINUOUS
WALL ANGLE

(2) 1/4"
SEMI TUI

RIMTS OR (2) |
1/4"-20 TRACK \
BOLTS WITH NUTS®,

OR (2)
RESISTA
WELD

EGOXX MIN.

OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1” 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
LIEU OF WELDING

MOUNTING TO STEEL DETAIL

X 7/16]
BULAR

.28” DIA
NCE SPOT

STATIC PRESSURE RATINGS

APPROVED SIZES

MAX WIDTH: 12'-2"

DESIGN PRESSURE(PSF): +20.9/-23.6

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

7 I

SN
v}: OF T&Y
& ..-..oo..

é‘,.-

RUBBER GASKET
1/8" ANNEALED DSB
DLO= 5°X20"

PLASTIC FRAME
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

TPEMVWMBALLDTIERM \TIDN CONT/

N.]NVHI.E[R]NPART,HAYNDTEGBPIEBINMVWIER[RWMT CONSENT OF OVERHEAD DOOR
INFORMATION MBMDTD[PERATEASALMISEIRMHHIR]ZATWNTDLBEHFIRMVHRPBIV‘IHMTHESPEW'CVW

AND INFDRMATIDI
ANY DF THIS DRAVING DR

0
\\\\-S‘/ ONAL E“

cul
o

1/4—-20 HEX NUT-

GLASS (MIN)

AND 1/4—20 FLANGE NUT

SIMPSON TITEN HD,
2-3/4" MIN ENBED INTO
MIN 2000 PSI_CONCRETE

AT EM}I HG.E OR PAR "AI-ALRSNG-E FACING

o oF H
TRACK CLP
2) 1/4-20:9/16"
Rt
1/4-20 HEX NUT:
TRACK
'CONGRETE NOUNTING DETAIL — ANGLE QUT 'CONCRETE MOUNTING DFTAL — ANGLE N
UN 3/16" TG
STEEL' FOR MOUNTING
MOUNTING WALL ANGLE- 2-24 /feonx
TRACK CUP QPTIONAL: WALL ANGLE MAY BE ATTAGHED TO
Yuape SUPPORTING STEEL WITH NIN. (1) 1/4~20x7/8"
SELF DRLUNG SCrew WITH 1 G.0. WASHER AT
1/4=20 HEX NU EACH HOLE OR PAIR OF HOLE LDCATION!
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL

AND PROPRIETARY mﬂrwmtmmunmmmmmmm
ANYDNE VITHOUT THE PRIDR VRITTEN MAT.IDN. mnm.usunnr
IIIISBIT I‘.IVERH DOOR

CORPORATION.
LR 1/14"/.:1 mmmw@" 77483/ 434/435
" CI'.:\RK 5/-236 PSF, 12'-2% MAX ’
crecec 1/14/21
J “I"‘:‘ B D—- 411790
T CLARK | 4/27/21 fem /A Tsm3= 3



chris
Texas


		2021-05-03T10:37:09-0500
	John Christian Voelkel




